MRIREFER—RE R
1. Gr-A-4E % 22266m, R LREE

F5 PR FR A% (mm) HE (kg) BAfT ¥E
1 PRI T AR 4320X 506 X 85X 3 80.25 A 5533
2 YA TR 2320X 506X 85X 3 43.08 a1 68
3 SR D 140X 4.5X 2350 32.35 R 5739
4 FEME D148X3 0.76 ™ 5739
5 B FHEE BG 196X 178X 400X 4.5 8.74 N 5739

PHicngae . 18R, g
6 M16X 45 0.245 = 67212
5 15 W R
ERENEAE 1, WBRE, B
7 M16X 45 0.245 = 11202
5 15 W2 RF
ERENEAE 2, WBRE, B
8 M16X170 0.46 = 5739
5 15 W2 RF
9 Ry 76X 44X 4 0.08 A 11478
10 &3 3 DR1-T R=160 (J&F 4mm) 26.87 A 272
2. Gr-B-2E & 4640m, #EHKEEE

F5 PR FR A% (mm) HE (kg) BAfT ¥E
1 IR 2320X 310X 85X 3 26.41 a1 2320
2 SEAE D114X4.5X2100 25.56 it} 2343
3 M D122 0.54 N 2343
4 e T 300X 70X 4.5 R=57 1.1 A~ 2343

PHEEtgse . 18eE, .
5 \ M16X 35 0.165 = 18560
5 15 W B
A 1, BEE, H4E
6 M16X 45 0.183 = 4686
5 15 W B
RN 2, WERE, H4E
7 M16 X 140 0.341 = 2343
5 15 W R
8 Ry 76 X 44 X 4 0.08 A 4686
9 o=k D- 1 R-160 (JZJEF 3mm) 10.88 ™ 46




H:

1. DL EEES AT SR, BAASE DS E M, s A RIR S E R84
PR N RT3 5%, Bkt B2 (AR 35 TRESe PRk i FaoR M s, H5obn AL T B AR 52
Zo

2. GBI HOA— R, A G FEIHNA TR 8bn AAEIRA IR 78 55
B QLUK . B8 WA ETE R BUEK ) AN bk B s gk S5 DR 3R 1 52 1 5%
Hir. A LLKTTEFINCE IS R RN = B 4 s o .

3. IRMESEA MG ER THKRE, BiERN 13%, —Fil.

4, DL ERISFE AT T B IH Bt s € S S FIE8E, s ANAKIRIZ IR R %, 45
PR N R AR 451 2K

5. PR ITABOE RN AT S TE (A BBIERNG ) GB/T 314392015, (BB
WAPELEE 18650 IRTERANY L) GB/T 31439.2-2015 (URTELRRANP AL 2 34y =PI
ZAPFRL) GB/T31439.2-2015. (AR IE TREMMI DT I HAR & 1E) GB/T18226-2015 (1]
TR PRGNSR I8, 1R REE, RN Tk R A AN A R R i
HALZE 80y F S 12 RE BT & GBIT699 BY, GB/T3077 HIFLAE s o o HE e i@ i 1 b | 48 44
PURLAT AN T 133KN; RS 18R, B, R S5 AT P R &8 M R AL
KN, PRI IREAN T 375MPa; B HEURAE AU Be AR BR A 1t RE R 2 (BT SR a4
FL55 1805y BRI ES) GB/T31439.2-2015 (PIERNPREEE 2 30y = PIE44N
PH2) GB/T31439.2-2015 HIAREEK: Bk RREERBEARZERA, A
RiFFE GB/T470-2008 (Fefe) HplsE: FREMAFBIERAREE, ©5 6029.



	材料采购需求一览表

